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QUIZ MASTER

Grand Quiz(CS301)

100% correct solution.
For more information you can visit my channel and for
any type of help related to CS619 you can contact me.

YOUTUBE CHANNEL:
https://www.youtube.com/channel /UCINsFwDiB62SValCcPDZbRQ/playlists

FACEBOOK GROUP:
https://www.facebook.com/groups/923887914750307
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C5301:Grand Quiz Ch

Question # 1 of 30 ( Start time: 10:43:24 AM. 29 December 2020 )

Aqueusisa data structure, whereas a stack is a data structure.

Select the correct oplion V

FIFO, LIFD
(©)
| -

LIFC.FIFC

both of thesg 2

none of these

O
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C5301:Grand Quiz

Question # 2 of 30 ( Start time: 10:43:46 AM. 29 December 2020 )

Generalized code written for a class is called:

Select the comrect option
Function E
Template
ko d

Struct

Stack
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CS301:Grand Quiz

Question # 3 of 30 { Start time: 10:44:07 AM, 29 December 2020 )

We cannot remove items randomly from

Select the correct option i

O Stack 0

Clueue

o QS

stack and queue

list
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CS301:Grand Quiz

Question # 4 of 30 { Start time: 10:44:22 AM, 29 December 2020 )

What will be the return type of the findMin method in the statement given below?
int& fimdMin{ ) const;

Select the correct option ;
integer reference
s\>
b d
constant intm

integer variable

integer pointer
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C5301:Grand Quiz

Question # 5 of 30 ( Start time: 10:44:47 AM. 29 December 2020 )

In array list the worst case of removing an element is

Select the correct option

Toremove an elemen% of the list
To ren@ement from the middle of the list

To remove an element from the start of the list

We cannot remove element from an array list
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CS5301:Grand Quiz

Question # 6 of 30 ( Start time: 10:45:07 AM, 29 December 2020 )

In a program a reference vanable, say x. can be declared as

Select the correct option V

int &x ;
0 &
O int *x &
O intx;

int &x = any_other_variable ;
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Question # 7 of 30 { Start time: 10:45:20 AM, 29 December 2020 )
next() method of List class is used to:
Select the correct option

Maoves the current positi one element

O

Maoves t" pointer to two steps after the last element of the array

Maoves the current position forward one element

®
b _d

Moves the "cument” pointer to two steps before the last element of the amray
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C5301:Grand Quiz

Question # & of 30 { Start time: 10:45:36 AM. 29 December 2020 )

isEmpty() method of stack class will return true when:

Select the comrect option
Stack is empty
X
B &)
Stack s ful s%ﬁ

Stack is not e w, il

Stack is partially empty
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C5301:Grand Quiz

Question # 9 of 30 ( Start time: 10:45:46 AM, 29 December 2020 )

MULL is an invalid address and

Select the correct option
Accessible e

Inaccessible

b d
Points to the st Wi the list
Points to the last current node of the list
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C5301:Grand Quiz

Question # 10 of 30 ( Start time: 10:46:02 AM. 29 December 2020 )

Which one option is correct to know the first element of the linked list.

Select the comrect option
Head pointer E
Start(); %
[
ko d

Current pointer

Last pointer
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C5301:Grand Quiz Cuiz Start 1

Question # 11 of 30 ( Start time: 10:46:17 AM. 29 December 2020 )

If we use singly linked list to implement list, then there is an issue that it gives difficulty when we:

Select the correct option
Movwe forward in the list E
Mowve backward in the list %7
b

We will increase its

We will decrease its size
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C5301:Grand Quiz

Question # 12 of 30 ( Start time: 10:46:33 AM. 23 December 2020 )

Each node in doubly link list has,

Select the correct option
1 pointer e

2 pointers

3 pointer

4 pointers
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C5301:Grand Quiz

Question # 13 of 30 ( Start time: 10:46:45 AM, 259 December 2020 )

For reference variables, sign is used.

Select the correct option V

ampersand

asterisk

P\

dollar

O
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CS301:Grand Quiz

Question # 14 of 30 ( Start time: 10:47:04 AM. 29 December 2020 }
Doubly Linked List always has MNULL pointer/s in a node.

Select the correct option
Cne

: o

Two

N
&

Three
O

Four
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C5301:Grand Quiz

Question # 15 of 30 ( Start time: 10:47:17 AM. 23 December 202(

“BinarySearchTres( )iz a

O

Select the comect option
Constructor e

Destructor

b _d

Switch

Template method call
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Question # 16 of 30 ( Start time: 10:47:21 AM. 29 December 2020 )

In which traversal method, the recursive calls can be used to traverse a binary tree ?

Select the correct option i
In preorder traversal only :

O

In inorder traw | anl

K

In postorder traversal only

All of the given options
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CS5301:Grand Quiz

Question # 17 of 30 ( Start time: 10:47:50 AM. 29 December 2020 )

We allocate memory dynarmically by using operatar.

O

Select the correct option
this e ?‘:

new

b d

inc

decrement
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C5301:Grand Quiz

Question # 18 of 30 ( Start time: 10:43:06 AM. 29 December 2020 )

When a function calling itself is called as

Select the correct option
Inline e
Recursion %
)

Mested loop
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C5301:Grand Quiz

Question # 19 of 30 ( Start time: 10:458:19 AM. 29 December 2020 )

In node class one field is an integer data and other field will be

\%

Select the correct option

Pointer to class 6

Paointer to node

Paointer to inte%

pointer to a list
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C5301:Grand Quiz Quiz Start Time: 10:43 AN

Question # 20 of 30 ( Start time: 10:48:32 AM. 29 December 2020 )

Allocating and de-allocating memory for linked list nodes does take time than pre-allocated array.

Select the correct option
Less V»

Maore

R

MNo
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C5301:Grand Quiz

Question # 21 of 30 ( Start time: 10:48:46 AM. 29 December 2020 )

A zigzag rotation is performed. In Left-Left case of rotation in AVL tree.

Select the correct option »

True
False
F
|- x
In sume@
There is no Left-Left case of rotaion
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2 CS301:Grand Quiz Quiz Start Time: 10:43 AM, 29 December 5
2 Question # 22 of 30 ( Start time: 10:48:58 AM. 29 December 2020 ) Total Ma 5
S In the linked list implementation of the stack class, where does the push member function places the new entry on the linked list? 1
S 4
S 4
S 4
S 4
S 4
2 Select the correct option 5
S After all other entries that are greater than the new entry. V 1
$ 0 \g ¢
S 4
z At the head 5
$ SO ¢
2 After all other entries that agg@small 3QEhaM the new entry. 5
> O <L 2
2 4
2 R g
) he tai (
2 O 4
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
> £
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Question # 23 of 30 ( Start time: 10:49:13 AM. 29 December 2020 )

3 5
S P4
S P4
S P4
S P4
S P4
2 The of a binary tree is the maximum level of the deepest leaf in the tree. 5
S P4
S 2
S P4
S P4
S P4
S P4
S Select the comect option 1
z Height 5
S ') 0 2
3 ¢
>

2 Width 5
$ o N\ 2
> Q‘ 4
> <
> Depth 4
> <
S U 4
S 4
> Y 4
‘:\ Length (:
S 4
$ O 2
S 4
$ 4
S 4
S 4
S 4
S 4
S 4
S 4
> Y 4
A 4
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Question # 24 of 30 ( Start time: 10:49:26 AM. 29 December 2020 ) Tota

Which operation of queue data structure is used to get front element from the queue and then remave it from the queus?

Select the correct option
enqueus() E
dequeue()

b d

front()

O

remave()
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Question # 25 of 30 ( Start time: 10:49:43 AM. 29 December 2020 )
STLisa that is a part of the official standard of C++.

Select the comrect option a
C program file

N\

cpp file

Library

®
b
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C5301:Grand Quiz

Question # 26 of 30 ( Start time: 10:49:54 AM, 29 December 2020 }

is used for Reference variables in C++.

\Y

Select the correct option

o| 1,®\>
ol

T
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2: CS$301:Grand Quiz 5
S P4
S Question # 27 of 30 ( Start time: 10:50:08 AM. 29 December 2{ e
2 void (TreeMode™ treeMNode) 5
S i{f{ treeMode 1= NULL ) 1
S ' ' : 2
S {mut << "[treeMode-=getinfol))<<" " 2
S (treeNode-=getleft()): 4
2: (treeMode-=getRight()): ‘ > > 5
2 Select the correct option 5
S Preorder 1
3 . N ¢
3 $
S

S O Post 5
S \

d Rs 4
$ 4
2 Imorder $
> O 4
D <
> <
2 Levelorder $
S O 4
> 4
> 4
> <
> 4
> <
> <
> <
> <
> Y 4
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C5301:Grand Quiz

Question # 28 of 30 ( Start time: 10:50:23 AM. 29 December 2020 )

MNew items are added at the of the stack.

Select the correct option
Bottom e

Middle

O

O

Top

b d
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C5301:Grand Quiz

Question # 29 of 30 ( Start ime: 10:50:35 AM, 29 December 2020 )
Following is a keyward of C++

Select the correct option
del

0O ?,\'

delete

R
°

eliminate
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Question # 30 of 30 ( Start time: 10:50:48 AM, 29 December 2020 )

The function calls are made with the help of

Select the correct option

Stack ‘
,?,?’
|-

Heap

°l 4

mory

External memory
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